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ﬁiﬁ% TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
; 100kN/m#%#BZ25| 1.00| 000 ~ 1.79| 12750 |3mZEBzB| — ~ — — — | 100kN/mi% 825 | 1.00 | 1265 ~ 29.41 127.50 [3mZEiBZ 5 -~ — — —
Zh st 100|179 ~ 9.58 100.00 | Fhilst | 000 ~ 958|269 14.42 Fhst 1.00 | 5.00 ~ 1265 100.00 | =nLs | 500 ~ 2941 | 2.69 14.42
2 100kN/m%#BZ5| 1.00| 000 ~ 276 14356 |3mZEBZB| — ~ — — — | 100kN/M%E#BZ 5 | 1.00 | 11.04 ~ 3304 | 143.56 |3mEHBZD -~ — — —
Zhst 1.00| 276 ~ 1054 100.00 | TnLSY | 000 ~ 1054 2.95 15.80 Fhs 1.00 | 6,00 ~ 11.04 100.00 | LS | 5.00 ~ 3304 2.95 15.80
3 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 278 143.92 |3mZEBAS| — ~ — — — | 100kN/m%#BZ 5 | 1.00 | 11.08 ~ 34.88| 143.92 |3mEHEZD -~ — — —
ZhnLst 1.00| 278 ~ 1057 100.00 | ThLS | 000 ~ 1057|294 15.76 Zh st 1.00 | 5.00 ~ 11.08| 100.00 | Fns | 500 ~ 3488 | 2.94 15.76
4 100kN/m#%#BZ5| 1.00| 000 ~ 297| 14709 |3mZEBzB| — ~ — — — | 100kN/mi%#BZ5 | 1.00 | 1082 ~ 33.78| 147.09 |3mEHEZS - ~ — — —
Zh st 1.00| 297 ~ 1075 100.00 | TS | 000 ~ 1075 3.00 16.04 Fhs 1.00 | 5.00 ~ 1082 100.00 | Fns | 500 ~ 3378| 3.00 16.04
5 100kN/m%#BZ5| 1.00| 000 ~ 230| 13577 |3mZEBZB| — ~ — — — | 100kN/M%#BZ5 | 1.00 | 11.59 ~ 2988 | 135.77 |3m&EHBZB -~ — — —
Zh st 1.00| 230 ~ 1008| 100.00| ThLS | 000 ~ 1008|278 14.87 Fhs 1.00 | 5.00 ~ 11.59| 100.00 | =ns | 5,00 ~ 2988 2.78 14.87
6 100kN/mM%#8Z 5| 1.00 | 000 ~ 212 132.91 |3mZEBAS| — ~ — — — | 100kN/mi% 2% | 1.00 | 11.32 ~ 24.04 132.91 |3m%&iBA5 -~ — — —
zhLst 100|212 ~ 991 100.00 | #nst | 0.00 ~ 991|249 13.35 Zh st 1.00|5.00 ~ 11.32| 100.00 | =ns | 5,00 ~ 2404 | 2.49 13.35
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 5.07 63.16 | LS 000 ~ 507|174 9.351 ZzhLs 1.00 | 5.00 ~ b6.40 6316 | =N | 5,00 ~ 540 | 1.74 9.31
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 545 67.96 | EnLS | 000 ~ 545 1.90 10.18 ZzhLs 1.00 | 5.00 ~ 6.30 67.96 | =nLs | 5,00 ~ 6.30 | 1.90 10.18
g 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 6.04 75.75 | EnRS | 000 ~ 604|174 9.32 Zzhn st 1.00 | 5.00 ~ 6.90 75.75 | EnLS | 6.00 ~ 6.90 | 1.74 9.32
10 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ#8Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.48 55.91 | =hst | 000 ~ 448|193 10.31 Zzh s 1.00 | 5.00 ~ 56.00 55.91 | =S | 65.00 ~ 5.00)| 1.93 10.31
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




